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0. ZHOH
1. &t 2, 700, 000 3,200,000] A 500,000 maw 2, 300, 000
BEAE 400, 000
2. FHE 25,244, 000 26, 030,000] A 786, 000
MBS 17,874,000 18,660,000] A 786,000] % 13, 500, 000
HEY 3, 714, 000
ey e s 660, 000
BT 2,626, 000 2,626, 000 0] mERMAGESERRE - BREREE 2, 500, 000
EESNGA 126, 000
=GR 4, 744, 000 4, 744, 000 0 zpst 400, 000
MRE AR 100, 000
BEE 1, 050, 000
R 2R S 2 300, 000
R 500, 000
fEHEE 100, 000
EHEES 514, 000
e 530, 000
Fise 500, 000
Hete 250, 000
R 5 190, 000
B 310, 000
3. EUEHEE TR 57,800,000 61,350,000 A 3,550,000
ENHES R 6, 900, 000 6, 500, 000 400, 000| #HE%. Bk 3 F—iEn 3, 200, 000
BCIRRBHRE 500, 000
HEHEDHLR 500, 000
BB 2, 600, 000
AR T — RO RITIE R 100, 000
SHEEEE| 12, 100,000 9, 600, 000 2,500, 000| @ieHHEEEE 7, 000, 000
HRRER CERIEHE 5, 100, 000




